gyATaem 1.1
1. (a) WEAEdr: —8°C, HTR: —2°C, Fmet: 5°C, S:t: 14°C, SeAt: 22°C
(b) 30°C (c) 6°C (d) =, 7
2. 35 3. —7°C; -3°C 4. 6200m 5. TH ¥FIHS H&AT §N; T 358
6. TH RUTHE & g — 10. 7. (i) T e o @
9. (a)< (b) < (c) > (d)< (e) >
10. ()11JamHE (i) 53enm |
(i) (a) 3+2-3+2-3+2-3+42-3+2-3=-8 (b) 4-2+4-2+4=38
(b) W & 8, SW H Wk § Hifedl =g wi Fefa s €
gyATEAr 1,2
1. TF UH TH TE B HHA B
(a) —10,3 (b) —6,4; (-6 —4==-10) (c) -3,3
2. TH UH T IR T WHA T
(a) =2, -10; [-2 — (~10) = 8] (b)y =6,1 (c) -1,2; (-1 -2=-3)
3. < AW WHE ek qIw g, A1 —30; 8
4. () -5 (i) 0 (i) —17 (iv) -7 v) -3
gyATEer 1.3
1. (a) -3 (b) -225 (c) 630 (d) 316 (e) 0
(f) 1320 (g) 162 (h) -360 (i) —24 () 36
3. (i) —a () (a)22 (b)-37 (c)0

4, -1 x5=-5,-1x4=-4=-5+1,-1x3 =-3=-4+1,

5. (a) 480 (b) —53000 (¢) —15000 (d) —4182
(e) —62500 ) 336 (2) 493 (h) 1140

6. —10°C 7. )8 (i) 15 (iii)0

8. (a) T 1000 =T &I (b) 4000 st

9. (a) -9 by -7 (c) 7 d -11

“1x2=-2=-3+1,-1x1=-1=-2+1,-1x0=0=-1+13d:-1x(-1)=0+1=1.
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[

gyaet 1.4
(a) -3 (b) -10 (c) 4 @ -1
(e) -13 () 0 (@ 1 (h)y -1 @ 1
(@ 1 (b) 75 (c) —206 @ -1
(e) —87 (f) —48 (g) -10 (h) -12
(=6,2), (-12, 4), (12, - 4), (9, -3), (-9,3) (S W& & 31 H 1 & Thd ©)
9 W — 14°C 6. ()8 (i) 13 7. 1%
gyATEaet 2.1
O i) 5 =43 (e i) T
13 .3 37 1 39 7
R
282 731 L 0 22 sl om
@ 32179 W 7075 4 © 3 3
17 .5
(i) 8- cm i) 7Zem; AABE 1 9ftH9 ST @
3 2 1 1.
ch 7. g; ﬁ@g 8. &ﬂa,‘s’mgﬂ?\t@
gyATEaet 2.2
»H () (i) (b) (i) (a) iv) (¢)
»H () i) (a) (i) (b)
1 1 1 2
i) 45 i) 13 @é i 1y v 23
2 1
(vi) 15 (vii) 67 (viii) 16 (ix) 45 (x) 9

IE T qhhT B Gl &
A A A OOO0O0O O

A A A OoooOoO
AAA OooOO

@ (i) (iii)
(a) ()12 ()23 (b) ()12 (i) 18 (¢) ()12 ()27 (d ()16 ()28

000
OXOJOXO)
OXOJOX®)
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4 L2
5 3
48 11
(vil) 55 (vii))

5_3 6__1 1
i) == (ii) — FT— 2—
. () il (i1) 7 5. 1

(©) 15%

191
®) () 22 (i) 6

Y9I 2.3

(d)
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@) (a) 3 (b) 35 (© 70
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(iii) 16 (iv)
13
—
i) 133
o L 33
8 S W55
1 .
m 6. 1058@ 7.
.8 8
(b) (@) 15 (ii) 15
UYHATIA 2.4
W w24 .
(iii) £l iv) = v)
.. 8
(ii) 5 (fomm for=) (iii)
7
(V) - f=a f9=) (vi)
.. 6 .13
(iii) o1 @iv) v)
.3 .35
(iir) 3 (iv) 9 (v)

(i) 2 T (i) %

12
25

4 1
o4 _—
vi) 7 5 i) 25
44 km
9 .7
7 (vi)
7
5 Sfaa =)
8 (yoi wem)
7 .31
8 ) 79
21 L4
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gyl 2.5

1. @) 0.5 @) 0.7 @) 7 (iv) 1.49 (v) 2.30 (vi) 0.88
2. () %007 (@) %7.07 @)y % 77.77 @iv) 0.50 (v) ¥2.35
3. () 0.05m,0.00005km @i) 3.5cm, 0.035 m, 0.000035 km
4. (i) 02kg (i) 3.470kg (i) 4.008 kg

. N . R
5. () 2><10+0><1+0><10+3><100 (i) 2><1+0><10+3><100

Lo b

(i) 2><100+O><10+0><1+0><10+3><100

iv) 2x1+0 L 3x —+4 L

@iv) 2x 1+ ><10+ ><100+ XIOOO
6. () THE (i) ®E (iii) <@ (iv) T (v) HEH™

7. A 7 R 0 @ TS U 0.9 km AM900 m SR off1 8. T 7 AfME wa @RI 9. 14.6km

Rl

1.

2.

3.

4.
5.

W9t 2.6
.G 12 i) 36.8 Gii) 13.55 (iv) - 80.4 ) 035 (vi) 844.08
(vii) 1.72
17.1 cm?
G 13 i) 368 i) 1537 (iv) 1680.7 ) 3110 (vi) 15610
(vii) 362  (viii) 4307 (ix) 5 x) 08 (xi) 90 (xii) 30
553 km 5. (1)0.75 i) 5.17 (i) 63.36 (v) 4.03 ) 0.025
(vi) 1.68  (vii) 0.0214 (viii)  10.5525 (ix) 1.0101 x) 110011
g9t 2.7
i 02 i) 0.07 (i) 0.62 (v) 109 ) 162.8 vi) 2.07
(vi) 0.99  (viii) 0.16
() 048 (i) 525 Gii) 0.07 (v) 3.31 (v) 27223 (vi) 0.056
(vii) 0.397
() 0027 (i) 0.003 Gii) 0.0078 (iv) 4.326 ) 0236 (vi) 0.9853
(i 00079 (i) 0.0263 (i) 0.03853 (iv) 0.1289 ) 0.0005
i 2 @) 180 (i) 6.5 (iv) 442 W) 2 vi) 31
(vii)y 510  (viii) 27 (x) 2.1 6. 1.8km
9Tt 3.1
AH SRR RS
1 ' 1
2 I 2
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3 | 1

4 f 3

5 m 5

6 il 4

7 I 2

8 | 1

9 | 1
i 9 (i) 1 (i) 8 (iv) 5

. p ... 0+8+6+4 18__9
2 4. 50 5. (1) 125 (i) 3 (i) ————=—3T = (v) A
4 4 2
(i) TIY AfUF 31 =95, 9ad FH 37k =39 (ii) 56  (iii) 73 7. 2058
(1) 20.5 (i)5.9 (ii)5 9. (i) 151 cm (i) 128 cm (iii) 23 cm (iv) 141.4cm (V) 5
yyEaet 3.2
dgoleh = 20, HIEdh = 20, i 2. HYg =39, &geich = 15, HigAsh = 15, et
(i) Ee = 38, 43; e = 40 (i) @, 37oh < 9gh ©
gk = 14, 7iegsh = 14
() T (i) oTE™ (i) TA (iv) A
Yy-TEaet 3.3

(a) fooett (b) 8
() o (i) G faam (i) T8t
(i) fepore (i) B @
i < (if) <, SR

(i) TR 3R ST A1 TR S sEEEEE (iv) GaE

yyAaet 3.4
() ffrea ® (i) @ o gear ?, W Ffvea w0 @ F& i) st@wE
(iv) E ot Tehar €, W FfvEa o9 9 & (v) @ f wehar B, W Mivea w0 9 e

1 1 1
) 5 (ii)g 3. 5
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1. )

(vii)
2. (a)
3. ()

4. @)

(V)

(ix)

(ii)

(v)
(vii)

(vii)

(©)
(e)
(2

(©)

(e)

(2

(©)

gyAaet 4.1
Tl (i) &l (i) & (iv) & (v) @&
Kl (viii) & (ix) Tl (x) Tl (xi) &
Tl (b) &I (c) & (d) &t (e) &I
p=3 (i) m=6
b
x+4=9 () y-2=8  (Gi) 10a=70 () $=6
3t ) X
L= i) Tm+7=77 (vii) Z_4=4 (vii) 6y —6 =60
§+3:30
p R4 AM157 () m¥ ¥ 7HH W3 UE B2
Th H&A m M TR (v) "I m %,3?@%
HEA m %,6-@?11% (vi) E&Tpoh dF T w4 W FM25 T
FEM poh WX TH § 42 WM W 18 fHerd B
T peh A9 H Y 2 ¥R W 8 THer 2
Sm+7=37 (i) 3y+4=49 Gii)y 20+7=87 (iv) 4b=180°
Jy-aet 4.2
A Tl H 1 Sifew x= 1 (b) T T T W | TR x=—1
A Teli B 1 SifeTx=6 (d) T U TG 6 WELx=—4
A e o 4 Sifgw y=-3 (f) T well H 4 Sifgw; y =38
Il wel H W 4 G y =0 (h) < wE Y 4 TeRT y = -8
Al Tel w3 W 9 S = 14 (b) T & T 29 TN L b =12
25
3 9sl 1 7 " IO ®Y; p =28 (d) ﬁ‘?&ﬁﬁ4@‘4ﬂ%x=7
6 - 15

AT el T 8 W W ¥ y = 0

ry (f) = 9el Hi 39 M w2 =

= B

aﬁfq&ﬁaﬁsﬁwﬁ;a:% (h) =1 & B 20F 9T X r=—
=7 1: AT ue H 2 WS (b) =ROT1: Al 9aff § W 7 WERT
RO 2: AT YT BT 3 W A S, n=16  TRO2: A YT BT S W AM S m=2
=07 1: AT 9el Y 3§ IO A (d) =7 1: S 9ef i 10 § TOT

=01 2: A1 Ul H 20 ¥ WM p=6 =01 2: AT Ul R 3 ¥ 9 T p =20
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12.

(@ p=10 (b) p=9 () p=20 (d p=-I5
(@ s=-4 (h) s=0 i ¢g=3 G ¢g=3
yyaet 4.3
-18
(a) y=38 (b)f=T () a=-5 (d g=-38
€9) ! (h)y z=-2 (i) l—i i) b=12
g m—2 z2=- 1 _9 @ =
(@ x=2 (b) n=12 (c) n=-2 d x=-4
14 6
(a) P=7 (b) P=73 (¢c) t=2 d p=7
2
(a) o GHHIfad GHiw 2 10x+2=22;§:§;5x—3=7
(b) o e T §:3x=—6; 3x+7=1;3x+10=4
UYIac 4.4
(a) 8x+4=60;x=7 (b) %-4:3;;;:35

d 2m-11=15;m=13 (e) 50-3x=8;x=14

(2) 57”—7=23;n=12

(e) p=8 () s=-3
k) g=-3 O g=3
Bl
() x=-4 @ x=7
(e) x=0
() m=2
3
(©) Zy+3=21;y=24
x+19
(f) 5 =8;x=21

(a) =IIaH 3T = 40 (b) T=F HIUT 70° (c) | : 132 W, Tg: 66 T
i 6 (i) 15 a4 (i) 25 4. 30
9T 5.1
Q) 70° (i) 27° (iii) 33°
() 75° (i) 93° (iii) 26°
(i) F () TH (i) HRH
(v) §F (V) T (vi) T
45° 5. 90° 6. 59 99 ¥ 1 =W 3¢ AW ¥ L2 9@
() e (i) Tl (i) = 8. 45°9W ¥
() = (i) Tl (i) = (iv) @ (v) &

() £1, 24,25 22+ 23 Gi) Z1,25;24,/5

. Z1 3R 22 = o T8 § i 39 oY Swafts & 8
(i) x=115°y=140°, z=40°

(1) x=55°y=125° z=125°
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13.

14.

i

D =

S o=

[

SR

(i) 90° i) 180° (i) HH (v) Waws g8 (v) wEH
(vi) 3ifreR =IO
(i) ZAOD, ZBOC (i) ZEOA, ZAOB (i) ZEOB, ZEOD
(iv) ZEOA, ZEOC (v) ZAOB, ZAOE; Z/AOE, ZEOD; /EOD, ZCOD
oAl 5.2
(i) A HIOT T (ii) 3Td: TR HIT T[UTeH
(i) foefen <t Y@ & s & Wk a4 3Ad: HIN B GAH IH G ol B
() Z1,245:22, /6,23, /7,24, /8 (i) £2,/8:; /3,75
(i) 22,2523, /8 Gv) Z1,/3;22, /4, /5,27, 26, /8
a=55%b=125% ¢ =55%d = 125° e = 55° f= 55°
(i) x=70° (i) x=100°
(i) «DGC =70° (i) «DEF = 70°
(i) 1,mo GHIR &l 2 (i) 1, mo GHIR &Y B
(i) 1, m o HAK B (v) 1, m HHR T 2
YYATA 641
oIl 6.2
i 120° (i) 110° (iii)) - 70° (v) 120° v) 100° (vi) 90°
(i) 65° i) 30° (i) 35° (iv) 60° v) 50° (vi) 40°
gyl 6.3
i 70° i) 60° (i) 40° (iv) 65° ) 60° (vi) 30°
(i) x=70°y=60° (i) x=50° y=80° (i) x=110°y="70°
(iv) x=60° y=90° (v) x=45°y=90° (vi) x=60° y=60°
YyATaet 6.4
() H9a TR ()EHa T (i) 9va el e
() @& (i) & (i) @ 3. ® 4. @ 5. &l
3 3K 27 & =
9T 6.5
26 cm 2. 24cm 3. 9m 4. ()@RGi) 5. 18m 6. (i)
98 cm 8. 68cm
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gyt 7.1
1. (a) =F 1 A& g9 @ (b) 70° () mZA=mZB
ZA ¢ LF, /B <> ZE, ZC <> /D, AB & FE, BC < ED, AC <> FD
i «£C (i) CA (i) ZA iv) BA
9T 7.2
1. (a) SSS HaimaHar yfqse (b) SAS gatTaHar Hfds
(c) ASA TaTEa9ar yfqas (d) RHS TaimaHar gfqas
2. (a) (i) PE (i) EN (iii) PN () () EN (i) AT
(c) (i) ZRAT = /EPN (ii)ZATR = /PNE
3. () fene i) T=me (i) SIS (iv) SAS TalTHEA yfaEy 4. &
5. AWON 6. ABTA, ATPQ 9. BC =QR, ASA gaimaaar gfdser
9Tl 8.1
1. (a) 10:1 (b) 500:7 (c) 1003 (d) 20:1 2. 12FFX
3. () TSRYM: 190 = ; 3 U= : 830 =fH (i) TSTEH
9Tl 8.2
4
1. (a) 12.5% b) 125% ) 7.5% (d) 287%
2. (a) 65% (b) 210% () 2% @ 1235%
1 3 3
3. 3) 1,25% (i) <3 60% (iii) §;37.5%
3 .
4. (a) 375 (b) g’r‘qﬂzm%ﬁa@ (¢) T 500 (d) 0.75kgm 750g
5. (a) 12000 (b) %9000 (¢) 1250km @ 20fFe (e) 500 ferex
1 3 1 1
6. (@025, (b) 157 (©) 02 % @ 005, 7. 30%
8. 40%:6000 9. % 40000 10. 59
9T 8.3
1. (a) &M= % 75; 9 % = 30 (b) M9 =3 1500; &9 % = 12.5
(c) &9 =% 500; &9 % = 20 (@) ®f=2%100; 8 % =40
2. (a) 75%:25%  (b)20%, 30%, 50% (c) 20%; 80% @ 12.5%: 25%; 62.5%
5
3. 2% 4. 57% 5. 12000 6. T16875
7. ()12% ()25 ¢ 8. ¥233.75 9. (a)% 1632 (b)Z 8625
10. 0.25% 11. ¥500
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10.

(ii)

@

(ii)

@

@

(1)

(ii)

@iv)

YT 9.1

21212 . =3 -5 -8-10 9
37275377 W 335773
35 -7 34 33 —11 -32 -31 141 11
—_— == 5 = 5 s (IV) _’_’0’_’_
45 9 45745 15 45 45 3747732
—15 18 21 24 L4 5 6 T
25°30 " 35 40 @ 16720722728
5 6 7 8 8 10 12 14
2307236 42" —48 ™) 55 T8 o
—4 -6 8 -10 10 15 20 25 8 12 16 28
14’2128 35 W 6 9" _12°~15 18°27°36 63
3
4

pa 1 1 1 1 1 TI 1 N

) -1 0 ] 2
< _: + :‘i': +—— : : >

oY 0 1

3

=1

i
pa 1 T 1 1 1 1 1 N

2 -1 0 ] 2

7
S

2. | I [ SHN TN S T S 1 TI N

-1 0 ]

pﬁaﬁamég;qﬁammég;mmaw%%;sﬁamw%l;

(i1), (1i1), (iv), (V)

O 5 @ i
@H < i) < (iit)
O C G
@ 555 (i)

-l T
T @iv)
- (v) >
= ) 5
—4-1-2
339
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Vi) =

2
) —37

(vi)) >



YTl 9.2

- 34 7
RO (i) 5 i) S,
-2 2 !
(v) 57 (vi) 3 (vii) 15
, o T3 B 1
-0 = W 53 T
s o o83 1 =54
0 i ;5 i) —
(vi) 1
4 6 By = 4
SEORS (i) o (i) T3
ot It
(vi) o (vii) 1
gyEet 11,]
1. () 150000 m? (i) ¥ 1,500,000,000
2. 6400 m? 3. 20m 4. 15cm; 525 cm?
6. 3lcm; Square 7. 35cm; 1050 cm? 8. 284
gyaet 1152
1. (a) 28 cm® (b) 15cm? (c) 8.75 cm? (d) 24 cm?
2. (a) 6¢cm*> (b) 8 cm? (c) 6cm? (d) 3 cm?
3. (a) 123cm (b) 10.3cm (¢c) 5.8cm (d 1.05cm
4. (a) 11.6¢cm (b) 80cm (¢) 155cm
5. (a) 91.2 cm? (b) 11.4cm
6. BM &1 &g = 30cm; DL &1 @418 = 42 cm
. 60
7. AABC &1 &5%d = 30 cm?; AD &1 &elg = T om
8. AABC &1 &3%d =27 cm?; CE &1 &€18 = 7.2 cm
gyaet 11.3
1. (a) 88cm (b) 176 mm
2. (a) 616 mm? (b) 1886.5 m?
3. 24.5m; 1886.5 m? 4. 132m;3 528
6. 471m; 270.65 7. 25.7cm 8. T30.14 (TTH)
10. 536 cm?® 11. 23.44 cm? 12. 5cm; 78.5 cm?
14. = 15. 119.32m;56.52m 16. 2004R
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™) o9

(V) —o )

V) 5o (V)

o0
o0
(9]
ul|°\ o"d

- -1
@iv) v 73

5. 40m

(e) 8.8 cm?

(c) 132cm

550
(c) 7 cm
5. 21.98 cm?
9. 7cm; 154 cm?; 11cm; 9d
13. 879.20 m?

17. 942 cm
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yyaet 11.4
1. 1750 m?; 0.675 ha 2. 1176 m? 3. 30 cm?
4. () 63m> (i) 12,600 5. (i) 116 m? @) 31,360
6. 0.99 ha; 20.01 ha 7. (1) 441 m?> (i) 348,510 S.ﬁ, 12 cm T S=dt %
9. i) 50m?> (i) 12.56m? (ili) 37.44 m? @iv) 12.56m
10. (@) 110cm? () 150 cm? 11. 66 cm?
gyt 12,1
) N o1 )
L@ y-z (@ E(X +y) (i) z? (iv) qu (v) ¥ +y* (vi) 5+3mn
(vi) 10-yz (viil) ab — (a + b)
2. () ( ) ®) Binid @
| | [ | ] | |
x -3 1 x x y -y’
/A\ - ’/ﬂ\\ ~
X X o Yy
2 2 o _,’_ 2 _ 2
() 5xy -;-7xy (e) ab 2|b 3a
[ 1 [ | |
Sxy Xy —ab 2b 34’
,’,ﬂ\\\ ,,,4\*\ ~ //T\\ ,’T\\ //T\\
5X Yy 7 X Xy -1 a b 2 b b 3 a a
. Ny .
(i) Wx\'\' ug TUHES
(a) -4 @ — 4x -4, x
f\ 5 5
-
(b) —4x + Sy —4x —4.x
Sy S5,y
(©) Sy + 3y Sy 5y
3y? 3.y
(d) xy+2x%y? Xy X, y
2x%y? 2,% X Yy
(e) Pqg+4q rq P q
q q
(f) | 1.2ab-2.4b+3.6a 1.2ab 1.2,a,b
-2.4b -24,b
3.6a 3.6,a
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(a)

34t 35 3 x
® 4"y 4 ks
4 1
4 4
(h)| 0.1p*+ 0.2¢> 0.1p? 0.1,p, p
0.2¢> 0.2,q,q
HSTeh g TGS
(1) 5-37 -37 -3
(i) 1+t+7+7 t 1
1? 1
I 1
(iii) X+ 2xy + 3y X 1
2xy 2
3y 3
@Gv)| 100 m +1000 n 100 m 100
1000 n 1000
M| -ra+Tpq -7 -1
Tpq 3
(vi) 1.2a + 0.8b 1.2 a 1.2
0.8b 0.8
(vii) 3.14r* 3.14r? 3.14
(viii) 2(1 + b) 21 2
2b 2
(ix) 0.1y + 0.01y? 0.1y 0.1
0.01y* 0.01
TR TGS x Al | x & OEES
@@ yx+y yx y?
(i) 13y? — 8yx — 8yx — 8y
(iii) xX+y+2 X 1
(@iv) S+z+zx 2x Z
(v) 1 +x+xy X 1
Xy y
(vi) 12xy? + 25 12xy? 12y?
(vii) 7 + xy? xy? y?
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(b) Hieh TGS y> Al | y* ol OHAES
(@) 8 — xy* — xy’ - X
(ii) 5y* + 7x 5y? 5
(i) | 2x%y — 15xy* + 7y? —15xy? —15x
7y? 7
5. () fgm= (i) TH (i) o (iv) THES
(v) = vi) fgu (vii) fgu= (vili) TR
(ix) Bz x) fgm= (xi) fgm= (xi) o
6. (i) ¥HHM U (i) HHHE U (iii) STHHM U (iv) HHM U<
(v) SR U (vi) STHNH W
7. (a) —xy% 2xy% — 4yx?, 20x%y; 8x%, —11x% — 6x%; Ty, y; — 100x, 3x; — 1lyx, 2xy.

(b) 10pg, —7qp, 18qp; Tp, 2405p; 8¢, — 100g; —p*¢>, 124°p*; 23, 41; —5p?, 7101p*; 13p*q, qp*

YgTIES 12.2
1. i) 8 -32 () 722+ 12z2-20z (i) p—-¢ @iv) a+ab
(v) 8x%y + 8xy* — 4x?— 7y? (vi) 4y? -3y
2. (i) 2mn (i) - S5tz (i) 12mn -4 @iv) a+b+3
V) 7x+5 (vi) 3m—4n-3mn -3 (vi)) 9x%y — 8xy?
(i) Spg+20  (ix) O x) -2y -1
3. () 6y? @) — 18xy @) 2b @iv) S5a + 5b - 2ab
v) 5m*—8mn+38 (vi) ¥*-5x-5
(vii) 10ab — Ta*- 7b* (vii) 8p?+ 8¢*— 5pq
4. (a) x>+ 2xy—)* (b) 5a+b-6
5. 4x* - 3y* —xy
6. (a) —y+11 (b) 2x+4
gyt 12.3
1. @) O @) 1 @) -1 Giv) 1 ) 1
2. () -1 @) -13 @) 3 3. -9 (i3 ()0 @Gv)1
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